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6.76 An adjustment for multiple tests. One way (o
- deal with the problem of misleading P-V.':.llues when
performing more than one significance test is to adjust
the criterion you use for statistical significance. The
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diameter confidence interval. A study of 584

Only trees with DBH greater than 1.5 cm were sampled.
Here are the diameters of a random sample of 40 of
these trees: | gf; PINES

10BN 55000 1012" D61 .17.6. 40.5. 31.8
(b) Give the two critical values t* from Table D that 4712 114 2.7 693 44.4.:16.9 357 . 54 442,122
bracketfaamensiithaesco i 150 11 SRR S DO A 51.5 419,397 :32.0::51:8

PSR : 43.6 23 44.6 31.5 403 22.3 433 37.5 29.1 27.9

(a) U§e a histograin or stemplot and a boxplot to
examine the dis?ﬁbution of DBHs. Include a Normal
quantﬂ,e _ 132{3’1' /ou h; he necessary software. Write a

t fche 5% level? Is it

d the exact P-value.



